MATH SUMMER ASSIGNMENTS 2024

Melissa Fenster

Name

Summer assignments for students entering grade 8 Algebra:

Students must complete practice problems to the best of their ability prior to
the first day of the 2024-2025 school year. The packet will be due no later
than Friday, August 23 and time will be given to review solutions in class the
following week. HSPT Practice (Quantitative Skills-30 minutes and
Mathematics — 45 minutes) needs to be completed as well.

Note: Calculators will rarely be used during the first trimester to improve
mental math skills. By practicing calculations manually, students strengthen
their ability to estimate and solve problems without relying on external tools.

Have a safe and happy summer!




Name Date

Test
1 End-of-Course Test
Solve. _ Answers
1. x-7 =-13 2. 15-3¢ =13 1.

3. One cell phone plan charges $20 per month plus $0.15 per minute used. 2
A second cell phone plan charges $35 per month plus $0.10 per minute
used. Write and solve an equation to find the number of minutes you
must talk to have the same cost for both calling plans.

4. a. Write the formula for the area of a triangle.

b. Solve the formula for 4.
c

. The area of a triangle is 36 square inches.
Use the new formula to find the height of
the triangle in inches and in centimeters.

12in.

In Exercises 5 and 6, use the following information. 5.

Parallelograms ABCD and EFGH are congruent. 6.

5. Which side of EFGH is congruent to side AD? 8.
6. Find the measure of £E.

7. A triangle has vertices A4(—1, 3), B(0, 2), and C(—4, 0). Find

the coordinates of the triangle after translating it up 2 units and
reflecting it in the x-axis.

8. The two figures are similar. Find the values of x and y, and the ratios
(larger to smaller) of the perimeters and areas.

9. An original piece of artwork is 3 feet by 2.5 feet. A reprint of the
artwork is 6 inches by 5 inches. Are the pieces similar? If so, what
is the ratio of their corresponding side lengths?
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Name Date

Test
1 End-of-Course Test (continued)
10. Use the figure to find the measure of Z£1. ‘i Answers
1 2 I k.
4\3 " a 10.
11. Find the measure of each angle of a 6207 56 > n.
regular polygon with 8 sides. \ 12,
12. You want to determine if two triangles are similar. What is the
minimum number of angles you need to measure to determine
if the triangles are similar? Explain.
Find the slope and the y-intercept of the graph of the linear equation. 13.
Then sketch its graph.
13. y=3x -2 14. 2x+4y =6 See left
By 51 14,
2
1
—4-3-2 {0 2 3 4x —4-3-2 0] 1 2 3 dx See left.
) 1—2
15. The equation 5x + 2y = 20 represents the cost for a family to attend
a play where x is the number of adults and y is the number of
children. Find the intercepts and interpret the meaning of each one.
Write an equation of the line in slope-intercept form. 16.
16. the line passing through (0, 1) and (-4, 5) 17.
17. the line with slope —2.5 and passing through (2, 1.5) 18. a.
b.
18. Recall that 0°C = 32°F and 100°C = 212°F.
a. Using x for degrees Celsius and y for degrees Fahrenheit, find
an equation of the line passing through (0, 32) and (100, 212).
b. What is the slope of the line? Explain what the slope means in ¢
terms of degrees Celsius and degrees Fahrenheit.
c. What is the y-intercept of the line? Explain what the y-intercept
means in terms of degrees Celsius and degrees Fahrenheit.
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Name

Date

Test
End-of-Course Test (continued)

Solve the system.

19.

22.

23.

24,

y=3x+4 20. y—4x =3 21.y=%x—1
y=—x=2 2y =8x+5 3x—y = —4
Tt costs $0.05 to send a text message and $0.10 to send a picture on

your cell phone. You spend $4 and send five more text messages than
pictures. How many text messages x and pictures y did you send?

Draw a mapping diagram of the
set of ordered pairs.

(2,3),(3,5), (4, 1),(5,2)

The table shows the cost y -
(in dollars) of x cold drinks. Drinks, x | 0 | 2

Cost, y 013|619

a. Graph the data.

b. Write a linear function that relates Y
ytox.

¢. How much does it cost to buy three
drinks?

o

X

Does the equation or table represent a linear or nonlinear function?

25.

Answers
19.
20.
21.

22.

23, See left.

24. a.__ See left.
b,
c.

25,

26.

27.

28.

29.

30.

2x -4y = 26. T3] 7 ]11]15

y | 2 4 8 | 16

Evaluate the expression.

27.

29,

30.

Copyright © Big Ideas Learning, LLC

/121 + 15 28. 6 - 5,3/——1—
125

A ladder is placed against the side of a house. The top of the ladder
is 12 feet above the ground. The base of the ladder is 5 feet away
from the house. Find the length of the ladder.

Between which two integers is ~/427 Explain.
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Name Date

Test
1 End-of-Course Test (continued)

Find the volume of the solid. Round your answer to the nearest Answers

tenth.
3,

31.

32,
33.

34. a. __See left.

34. The table shows the number of years of college education b._Seeleft.
and hourly earnings (in dollars) for several people. c.
NumberofYears,x | 0 | 1 | 3 | 5| 6 d.
Hourly Earnings,y | 6 | 8 | 15|25 |30 35. ___ Seeleft.
a. Make a scatter plot of the data. y 36.  Sceleft.
37.
b. Draw a line of fit.
38.
¢. Write an equation for the line of fit.
39.
d. Predict the hourly earnings for a
person with four years of college 40.
education.
41,
%
Choose an appropriate data display for the situation. Explain your
reasoning.
35, the percent of students with 0, 1, 2, or more than 2 siblings
36. the average movie theater ticket price over the last ten years
Evaluate.
6
- -7
37. (32) 38. 12° ¢ 127 30. { )4
(=7)
Multiply. Write your answer in scientific notation.
40. (4.6x1072)x (1.0x107%) 41, (25x107) x (14 x 10°)
244 Big Ideas Math Advanced 2 Copyright © Big ldeas Leaming, LLC

Assessment Book Alf rights reserved.




Name Date

Test
End-of-Course Test (continued)

Write the word sentence as an inequality. Answers
42. 3 less than a number ¢ is at most 7. 42,
43. A number m multiplied by 4 is greater than 12, 43.

44. You and two friends are making a gift basket. You want to keep the 44,
cost below $15 per person. Write and solve an inequality that
represents the total cost of the gift basket.

Solve the inequality. Graph the solution. 45.
45. g -7 < -4 46. —3m < 15 See left.
i ] H | | i i i | | 46'
I I 1 1 L o H l I L
» . . .. . See left.
47. If you spend at least $50 (including shipping) at an online store,
you receive a $10 gift card. You want to purchase CDs that cost 47.
$12 each. If shipping costs $5, write and solve an inequality to
find the number of CDs you must buy to receive the gift card.
Classify the angles as complementary, supplementary, or neither.
48. 23°, 67° 49. 46°, 144° 48.
. . 49.
Classify the triangle.
51. 50.
51.
52.
Find the value of x.
53,
52. 53.
54,
55.
54. A scale drawing has a scale of 3 in. : 1 ft. What is the scale factor?
55. The diameter of a circle is 14 inches. Find the circumference
and area. Use —272 for 7.
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Name Date

Test
End-of-Course Test (continueq)

56. Find the area of the figure. Use 3.14 for 7. Answers
56.
57.
4m
58.
Find the volume and surface area of the solid.
58.
59,

60. a. _ See left.

b. __See left.

61.

59. Find the surface area of the cylinder with a radius of 2 inches and 62.

a height of 4 inches. Round your answer to the nearest tenth.
63.

60. A manufacturer wants to make a box with a volume of 24 cubic feet.

a. Sketch two possible designs for the box.
65.

b. Ifthe box is to be made out of wood that costs $4 per square foot,
which of your designs would be less expensive to produce?
Explain.

61. The theoretical probability that you will try out for the school play is
%0—. There are 22 students in your grade that try out for the school

play. How many students are in your grade?

62. You flip two coins. What is the probability that you flip at least one
head?

You roll a number cube twice. Find the probability of the event.
63. Rollinga 5 thena3

64. Rolling an even then an odd

65. The probability that your ticket will be chosen in a drawing is 6%.
There are 250 tickets in the drawing. How many tickets are yours?
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Bl  coop, HSPT, AND-TAGHS PRACTICE TESTS

Quaiititative SKills (52 Questions) (30-Minutes)

Directions: Chopse the bestdnsiver 1o sach questisi: :

B, What ik the:nexe number m tﬁefoliowlﬂg T 66, WHakis the:missing numberin-the follow-
seiiest 12,24, 36, 48, . ingsetiens 4, 5.7, <8, 9. .Y
A 60 : A &
B 56 B =¥
& 72 . € =6
D 64 ' D -5

g‘z

2 percent.of'a numbey’ xsequal 16 2 times - 67, Bramiie ﬁgupes {5), (b), and. () and tien:
O:2tparcenit: Whit 1s:he fiiiiber? choose/the:correct statement;

A4 ~

B 2
G 04
D 62

63.. Examine (a),{tand (&)and then ehidoge
thie;curtect ans WK,
(8) tha aﬁthmeﬁe e (simple averags)

@ e
)

D (a) fs equal fo: (b)! and_:(b) 18 equal ty: (‘c); :
o . L . ﬁgum (a)

63, Whatisihe nextnitmberin thefollowiig D Thenumber:of: ‘petals jij fighite, Qa)
L : Jsequal to the:number-of petals: in;

oy 3 o
seties;, 2, el

B 68;: Wharidre'the nextiws fumbery in the:fol:
Jowing:series: 3;7, 2, 36T 2, By oo

A

.
g 2‘ N R

65, <i§- what ffaction of Z" O D g H

69, Oneifhitd,isone-thid of utiat nlintbBi% g

O
.
c.n] 4:-

2
b D

o
Bl i e s
o
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B

R

3
&

. ‘ o ) _ HSPT Prattice Tést 2

ﬁuan%itaflva- Skills: {continusd)

- 710, Whatnumber isitizes-Fourths: added to 1 76.: Examiﬂézthetﬁﬂﬁ&aﬁﬁiﬂéiéamﬁbmmswéﬁ_
Srstinlf? | ' | i
»A‘ 1«11 . . » g - " G * _{;

A CEXBE=BF*DG
'B. BF+DCs3%CE

G AB+BEC»>LXTE
P BG+AC=BC.

) e | 77, Whatds thenext it i the following:
D (a)=(b’)+(,c) serien 4, 8,099, 1L, 18, . 22

7% Whabmw,gcr is Jessidhan: eleveﬁ-faurths . A 19
but»greater hianeleyén-tenths? 13 . B 20 b

P

7y crbaree

" 3 | | 78 Examinea); (3 and (¥ and them-choses
B2 ‘ |+ fhebestanswer.

4. Whatis.thenextaiiber i the: foilowing i &y 3@,*4(10, 4)
gerios: Ok, 2.5 18 A 1diee ® . e
A 009 ), 4( Xy 8
B 11 :
.G 02
> I 2

[N

74 “What s the:missing numbesmthefouow-a 1 c ;( "( ‘“(b)
ing-sorie::9,3; 1, 18,296, 12,47 { D (@)=e)—{)

A 4 | , - 78, Whats the nextletierinthe following
B 9 ' ' : serlegin; b, d.g.k,m‘?

c 6 | |
b3 e

Rk
10 pereont of 467

75. 40 peieent: ofwhat nuimber s equal-fo D »p
) T | 80 Whatnumberis 20%of theavermge of
g 10 ‘ 20%, 609, and 7099
e 4 ~ ‘ * 10%
p: 20 BL.C/)

20%

12.5%

oo w:‘e.-
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COgF,.H

SPT,.AND TACHS PRAGTICE TESTS

Quantitative Skille (Bontinued)
81, 'Whatiis the.nextnumbst in the: following

429

seriest 13,12, 14,41, 15, 10,16 .. 7
A 1

A22
85'1

)

A, Thesiniber of trlanglesdy ﬁgure ().
18 greater-than the'nunibir-of circles

_ infigore

B The numbarof’mangles isfigure (¢)
equalg L mamumng of rectarglegin

- fgureda);:

G- Thenumber.of rectangles s; figure (a)
is Jogs thian: themiimber of triangles i
figufe fo):

D Thenimbiiof: vitcless-figure (6):
eqnals thieshumber of idtiples in
figurs: @ .

84, What fs-thenext: numbermthefollowmg
setles: 15:80; 10,40, 8, ... %

A 48
B &0
€ 25
D. 3

-

%

85, ‘What nnmber $:8quiate 160t is the square of 37
A 9 .
B 27
¢ &l
D 36

86; Four times whiat itiibe i5:two less than
...... -founths of eight?

48, Wha: ds the mext-numbier m'the, Tollowitng
Seﬁﬁs“ Wv 8 XVI{ 32 n in b

89: “Whicki oFithe thres fignres below 1 the:
Targestiarea?

g .

& oW @

D ‘All thraeﬁgures ate giuil in-ated,
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Quantitative Skills. (continued)

" 90 Bxamine (‘ai (¥ and (c) and then cligose
‘the correot answet;

{a) *—-1*+]%

4T
)
3

3
£°) "-*."”f'g;

B (ﬁiﬁleosstban(a)nﬁ greater

1, Examinsﬁgures (ﬁ). (h), arid (c). wfnch
show

> 6 (h) is-grentec than-(g)-and Tess: than (b)
D (a) n'lens thande) Higreater it ()

I o®

. -

A ‘l’he 813 ded_argg of ﬁgure (a) iy Jess
B
ol
D
to the:shadéd:aréa-of figure @),

, : 92, Wh’aﬁnumbermus’t - you, adil 6. both the

obtam —zr?

"A 7

oW
O U 03

Lo, 2 ﬁd*' .:
). "'l‘he shadedareq of ﬁgnte (c) is-equal

HSPT Practios Test 2

93, Whatis. ihe next: number m thes fellowing

§d, Examine'a); (b); and tc)

(a) ‘the reciproval’c of -’

{b) “the sciprotal’of %

(c) -thie reclprocalof -3~

Al of the: followmg are frie BXCEPT:
A. (8) % (C) (b) .

g6 fone-fouztb of four les (Han a.purmiber-is
gqual to six more:than;eleven. What {5 the

nuibei?

A g

D 6 .
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1 coop, HSPT; AND TACHS PRACTICE TESTS

Quantitative Skills (continved)

97, What number is 1507 percentof 350 percent?

A ?«*
: nl 1o
B 10 » |

if: oslhve integex multiplied by dtsslf .
o8} Tigarly equal to 1607

o

WG

b 5_{ 102, tht?é the Hiei terminthefollomng
S ' '- senes. 1431’-{, 126G, 101F, BKE; GMD, ..

%

86, Thie figure below showsa squats and Boiréle.

| 108, 13 more: than tWo«ﬂxirds ofa nombsEis
equai to 35, ' Whatds:the. number?

zhan thez square,"s ) erlniétér.
Th Avea Off thesquare izequal to the
area:ofiths cp:cle

99:. Thres:fourthisis fourAths of what: nutnber?
A

P

"

4 M Qiﬂ"x‘.&';W‘*'H"I;Iilz!’-ﬁgi:CfAff?H'56<.Lii(3 HIGH §¢Honl E‘fiﬁﬁ.»kﬁ;cggs EXAMS
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‘HSPT Practice Tost 2
- Quantitativa Skille ‘(o'b‘ﬁ'tffrﬁéd)f

R 1085;. Examine-figures-(a); (b), and’ (e}, and’ thei, | 108, Assume:thatxs [, % 1, 66d 2% Land
R ChOOSB he-corréct sfafement, - | tidt x,7y; andiz. am"jm@gg 5. Bxaming &Y

:: ¥ g ) PET IR . : (b aitd (&) sid. e choosethe best
o A 1] AO answer.
e LA QI ste A j )y
L ECT (b)' xz-uy
ALYy ol o) [ofef | o A (a). s eqaai for (t)-aise lesithi ©
% P , : B )ik sgnalfod (B)and to (of .o B
a) : ! 3
@ (b) ® T “(a)iy equal to/(c)aind grentér:thiki (h) R
i
: A Thenumbe of; cn'cles is-figure (a) ‘ o (b) 16 less thent{c)-and greater T (2) 3
gquals the numbeiof. tnangles in 10D, Wihat iy the:next nuniber. in‘the followiiig
: o dgure (e} | setios: 100,:50, 35, 12.5, 625, .. 7 -
i B - “Themimberof mangles isfigite (a) A 8.125

& | éqiials the: nuniber-of triangles fn vy
_ figure (b).. _ : g gggs .
€ ‘Themttiber of ofrdles s figure.(c) It 175
- equalé the nimbei-of trisngles in v
_ Agure (),
D : + B 'The: numbfer of h‘mngles is ﬂgm‘e {b) o, ﬁ;@n&fﬂm (fz’ta (?)t’n 2;? {)i.and then
"' 1 groaferihian the number:of tircles Rget Stafement:

; L1 ﬁgu;e‘(b)

st ey

A s

o 108.. Bxamine (), (b}, il (c) and: thenchoose N
the:correct.answer, T
«(@) /8T B CS

. . ke (b) 23 ) / .

A &) 32 . R Lo
A @e@ - I )

VB ©)>(ay

e B=@

D @)=

TR,

o

AR E

.

LA,

G

107. Whatnuraber subttasted fom -1 fs orie:
ggggtg;‘gb@: the sum of =1 and ~17- .
a1 \ .

A 2) | A @)

c : ' '_Fxgure ) cengains THpFe: nght fmglbs

B

NG

=
9
5
H
i

2,
¥

Pipues ) cof it ths:sapié numbex.v
of:20%angles-as: ﬁgure {e):
Figase (c)-cpntaifis the §aimé : oumber
of 707 angles-as:figuie (b,

BT ) Higaeé (5) conthinis fiore-acufe angles
o ' ' ; than‘figure {c),

g & W 3,

W
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e ot tene muns it ol you work

NDTAGHS PRACTICE TESTS

“Quantitative Skills (oontiisd)
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. HBPT-Practice Test2:
Mathamaﬁes {64 Quesﬂons) (45 Mm Utes) L E ?
¢ Direcﬁons: Choose thebesk answer to-eack question. )
W

Concepts

125, What. Va’(u!% dass the;digiw ‘Tepresent n T 180, T theifigre below; ZBECisasight angle. '
#H6 degimal: number, 35,08429 - : : S

k4
A‘f B ,4 .

eoladials

1, 000

be true‘?

© 176, Howmany iniegersans greatef thagi 10.but. |
‘ Tuas thei 100
A 90
. B & _
‘oo
D 8
127 Which of‘t-hefdll'owilng‘.ii;: a:quadritatersly
A hexagon
B: friangle:* -
G pentagon : ‘1&2. x+2x»+ s o
l5 trapezoid . A iyt
" B -
176 If'a + 2b= b;.then:p = ; ' c 51‘3){
A Zabtb ' { D 6
“B. 4ab S | oo
G 3ag+4b
D b+2a

'a

179, Whaﬁ’isme‘dlfferent:e betweenfthe sum of

‘ sumiofall: odd ﬁtegers bébf;een 0: iin 1'009'
A 50
B0 . | | |
c lm - \ . = v ' ‘ . 4 J i
b i : |

BT

-

B
) ’

T,

‘ v'M't?fa'(_:‘v,?ﬂ-.zb;?v.il“—-’%ﬁfilz'i;;g_ﬂs CATHOLAC MIGH s¢HogL ENTRANCE EXAMS: B
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COOR, HSPT, NND'TACHQEPRAC?F!EE TESTS

B
Mathamaﬂcs (oontmued)

184, Point'4 appears.on the:xeal number line:ds:
shown-Helow

»:
) e

- o 1,

4
[

If.xand.y are seal niinibers, goititA bélow'
CANNOT xepmsent

WhilchibF thi, follomng {5 & complete:and
aecurate hst* ‘of the prime; factors.of 482-

¢

185,

.."lfﬁBﬁ

b

MEE RANSHI LL'S CATHOLIT HIGH SCHOOL ENTRANCE EXAMS '

190 Ix &< iaridy e 1, then it nst betie

{ 88 Thepo oulation o a cértain elty ds.

2.3 355 ]
fHonsaiid, whatis the clty’
A 2,460,000
B 2450000
[} 2356,000
1]

189.. If orie of the:anglesof i isosceles tianigle
mieasures IDD Jore:of the. ather angles

{]

é populatfon‘?

A BoR
B 10p%
Q 40°
B ko

that

x#y £ 0
.W<»1

XFys0

5—>1 ‘

 aua,

19%; Jnthe figwrebelow; 7| b

EX

oQ WP




Mathematics: (contirivied)
‘ 192. ‘Which of the followmg isd prlme numbet?

i A 8. .
7 B 13
N G 87

193, 25 centy s whint ficion 6f 100 dollars?

400,
25
1,000
194; If g, b;and ¢-dre consécutive integets sych
that -D a< bwz ; which of the:following:

-

b
d
.
L

195, Whﬁll 'you.ingreass a: cuhe’s Higiglitby.

o inforease'dte volume by-

196, ‘Which:of:the-following is:the sét of ot
fvori Factors of 60:and 367

(F612,18),

| 197, The figure below sfows apailllopuit

, 198. JKira randomly sélectyn intgger froin

| Problem Salving

i 209 A sa]ad -COBIS: $3 {75; a beverage costs.

. HSPT Pragtice:Test 2.

»

. ::: ﬂ L :
B AB gerpendicularw 2411 i
;{c, £590 o

140 50, the probabﬂ1£y thidt she-will'select:
& muilfiple of 318

A

L w S A .
nlrt il on g0 BrE

1994 o] ("’2) —~(=3)=
A =6
B 4
c 0 1

K

D 3

$1:50; .and’a bagsl costs $2:25. Kevin, who

has $5:50-t0 spend, can buy:anyof i;he fol-
- Jowing EXCEPT:

A three’ "svcrages a

B twobeverages and a-bagel

G asalad and’bbyerage

D - abageéland salad.
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# cooP, HSRT, AND TACHS PRACTICE TESTS:

- . Mathematics {continued).
201. Find the-valie of:y in fig-figure blow.

120.
g0

140
100°

ﬁ@w?

202, 208675 3=
A 301
B 25990
€ 300.01.
o 3o

5

ry
2t

B W
D.

6 3
i 207, Whiich of theifollowings mostrisaly
L 1 ST ‘
10. equal to »5‘?

I A 35
208, Dﬂ:ﬁ.cold wifter day, thie?1aw témperature. ;,; B 00
" :hightemperature was:A1%, | C L8
BﬂSﬁd ‘O thesgtwe:statisties; what.was the | . D 230%
average temperatute for:the day? ]

258
.Q’ﬁn
1.5°
08

208, Hor wihat valiteof £idoes %:%{2»»}&’

o8 !

g oud
o e R SR an )

488 WG RAWSHILL'S TATHOLIC HIGH SEHOOL ENTRANGE EXAMS




- HSPT Rractich Tast 2

Mathamﬂt‘ics (cani*imwd)

209: %;‘*: o - | 2% The table below-shows distances:(in miles)
R N . , bbtwesn fivéioities,

Ay

o 6 w >

1% e e P

=
%
;o
g
8

219, 1f'30.cun iwoffes-beaty are removed
frotiid-5-found bag:of doffee beans; the
newweight-of the bag of coffés henns is
A. 50-ounces:

B 20ounoes;
. € Abounces: .
D S0ntbces ’

-3

211, A, clivleds, diwded “1ijt6.foiir séctors arbund

‘sweuftha.tbuﬁhc&nn‘alangle?
A 0

B 11g¥

c 6

D 908

212, A teifd-played 25: gaies-Jithe seagon;.
losing 8 'more games thanit:won: 3 of' the:
gamies’ tasiiltad i fds: How mbty games
did the/team win?

A 15
. B2
RN
B 10

213.. ‘Whith:of the; folmwmg operauons yields:
the -greatest; sum’?
3

A 221**-5‘.

‘.B'. " O!s;:‘)' 4 .
G 204
G * %

D 0l 5
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Which:of:the following trips, cach mvolv-
ingwo 1€g$.=‘i§ Iéﬁg'éstz dista

A FromDito B,andthen toC
B Fiomn Gio A,aud then D

G Prom A:fo.E, and then-to’B

b Frc‘thoB iid e 1o ¢

215, Fillin the Blasik: to aomplete the following: -

X3

eqna oni
H-10 s xPwd=d

b

Ly
Wi g B

{ 218, I Stacy diinks 25% of & 16@0unce carton

of taflk, and then Tarer dfinke 25% of the:
remainingmilk, How many-ounces:of milk
i Teft?

'A 1‘1 ’

L. 297, Acfectuhguld plor:of fand with & lehgthiof

T40:Peet Hinsah dgea.of 121000 squatefoet,
The -width of thé:plotis -
A 80 foer
B 100:feef:
& 65feat
D 135féet
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Mathematios (oantmued)

perhouf'mﬁh) ‘n‘}ns dri‘

averaga speéd far Higeritire tound tnp was:

Tebcy s
Pafiy)$ ags Was twme Teity's ag& Wbat:s
Pam"s mrrent Bgel

3 .

g:': ) i .
¢ 1% 5% :
D 5%

*
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Mathemiatics. (continued)
227.; How.many.centimééris equivaléa fo
& ‘ome, foiiithi.of:one metet?
! A '250
. ‘B 40

Futitmaly o die.2o0, 15 drpmoikeys.
: of ic following fraetions axpressss
thexatio.of motikeys to-all oftier animaly at
thgrzgof ‘ Lo
A 54

B: 59
€ 45

D 43

Questens 230 and 233 basediom s followi
informatian; a

"The graph-below shiws e number of visltorsto. E
Seaside StateRark: during:etich. of six montis,

230, The greatest fhisrenseiin the number of
park yisitors:from:onesmiontii to'the next:
Socumed .

A fiom Janvary i ligh February

 from Bebitiary throngh:Mugeh

 Bront Mageh throvgh: April

HSPT Practies Test 2

| 281.. Approximiataly iow many-visitors did:

theparkiiecsive altopetlist during thie:
six:months shown? -

A 190000

¢ 20000

B 225,000

| 232, pititho vatas o e expression 2 iy

‘when=4, y=3, and g2,
B -4
[
D 2

¥

288, 9yt ap =

A =93

284, Thochitral angle:tf oné dedtor ofa dirgfe:
. ‘mensureg80°, What'is the aresof the-secs
tor ds'd:portion.of thedirsley:

a L

N

eleo oolith Ui tad

235, Ahiley eams §18:per ot and receiyasia
S%:commission.on all-of fer salex, How.
much did Astiley:earin dring-an Shour day’
during:which Aghley's sales:totaled $4000°
A 3166 ‘

B $175

© 150

D 3p

=¥=3. 5N

Ao Mag throwgti June.

<
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